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o UITFOEITHITE, UTFDINSGA=FMEEINTNET.
@ #EHTiohAR: 192.168.0.185
@ EHefoh—hES: 10000
® ALWRE: 3
@ Xyt—IH4/4X: 5 (Byte)
® Xyt—IXEOE: 20 (ALY RHIED)
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$ ./tcpbenchmark 192.168.0.185 10000 3 5 2
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$ ./tcpbenchmark 192.168.0.185 10000 3 5 2
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failedSendRecv IRSHME(CKRBIUIER
connectTime(total) e (CEUKE (R z2EH#FEA)
— connectTime(average) B CEUEBI 0SB
connectTime(sample variance) i cCEURRFEIDDEN
connectTime(max) B CEUREBORAE
sendRecvTime(total) RMECEULRE (RMEFZEHFEEA)
o sendRecvTime(average) XRRME(CEUEIFBOESE
RS HFE , : Np— =
sendRecvTime(sample variance) RMECEURRIDDER
sendRecvTime(total) EMECEURRORXIE
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Thread 0 | Connect @ SendRecv 0@ :
I
Thread 1 Connect 1 SendRecv 1 :
Thread 2 Connect 2 SendRecv 2
I
Thread 3 Connect 3 SendRecv 3 I
I
I

&=

I I
I benchmarkTime I

connectTime(total) = Connect © + Connect 1 + Connect 2 + Connect 3
sendRecvTime(total) = SendRecv © + SendRecv 1 + SendRecv 2 + SendRecv 3
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Thread O

Thread 1

Thread 2

Thread 3

Connect ©

SendRecv ©

Connect 1

Connect 2

Connect 3

SendRecv 1

benchmarkTime

SendRecv 2

SendRecv 3

connectTime(total) = Connect © + Connect 1 + Connect 2 + Connect 3
sendRecvTime(total) = SendRecv © + SendRecv 1 + SendRecv 2 + SendRecv 3
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$ ./tcpbenchmark localhost 10000 3 5 2
hostname = localhost, port = 10000
3 thread with 2 echoback.

message size is 5 bytes.

Thread stack size = 2097152 bytes
thread 0 created.

thread 1 created.

thread 2 created.

start count down: 2

start count down: 1

Thread Start!!
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addr=127.0.0.1 # ALY ROIESE
port=10000

addr=127.0.0.1

port=10000

addr=127.0.0.1

port=10000




NYFI-J7 0I5 LADETHERE (FALYROFER)

Thread(0): true # ALYReDFER > I
connectTime: UsedTime: 0.0013909540(sec) # IEHIR(CEULRE (BRIhEF)
sendRecvTime: UsedTime: 0.0003629950(sec) # XZENIR(CEUEFE (BINEF)
failedConnectNum = © # FEHURERU
failedSendRecvLoopNum = © # EXZEIN-TORERL
failedSendRecvNum = © # IXZEDOKBRL

Thread(1l): true
connectTime: UsedTime: ©.0012880700(sec)
sendRecvTime: UsedTime: 0.0004741430(sec)
failedConnectNum = ©
failedSendRecvLoopNum = ©
failedSendRecvNum = ©

Thread(2): true
connectTime: UsedTime: 0.0016464540(sec)
sendRecvTime: UsedTime: ©.0004576960(sec)
failedConnectNum = ©
failedSendRecvLoopNum = ©
failedSendRecvNum = ©
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thread, success,failedConnect,failedSendRecvLoop,failedSendRecv, connectTime(total),connectTime(ave
rage),connectTime(sample
variance),connectTime(max),sendRecvTime(total),sendRecvTime(average),sendRecvTime(sample
variance),sendRecvTime(max),benchmarkTime(include failed)

3,3,0,0,0,0.004325,0.001442,0.000000,0.001646,0.001295,0.000432,0.000000,0.000474,0.002886
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. IEHuAFRI: 0.004325 (sec)

- [E¥F1: 0.001442 (sec), [EFERE0.000000 (sec)RDT, BIEHUIBOVIIRRFRE(CIESTREZEEFEET, 19
0.0014 (sec) T IR(CARIILE (RAFRERE: 0.001646 (sec))

- XMERFRI: 0.001295 (sec)

- [E19: 0.000432 (sec), A58 0.000000 (sec)RDT, FXZEWUIE (SMOl(E2[EEchoBack) DALIERFfEICIES
LHEFFEFIERT, £90.000432 (sec) TEHMEWURCRKINL: (BRAFPTERR: 0.000474 (sec))

o RIFV—VUIREROAUIERFR(E 0.002886 (sec) ZEUC

% benchMarkTime (0.002886) << connectTime (0.004325) + sendRecvTime (0.001295) ¢2>TWADIE, benchMarkTimeldARYFI—-97’'0J95 L2
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TCPBenchMark.c:
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// const char* RESPONSE_ POSTFIX=":0K";
RESPONSE _POSTFIX="";

const char*®
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